KCL

VQ Series Triple Pump Ordering Code

VQ RYI=HiRETEEIES|

DVQ2215

DVQ2215 - 65 - 38 - 17 -

@ ® & @

F -
®

-A

>

Y @I=

AAAA-01-0
O®® O @

(1) Series Number Discharge Port Position HAHOTSE :
RugE (P1) Shaft End Pump A:[ Upward (normal) BILE
@ P1-Disch Port (view from Shaft End) B" Downward FIF
:Discharge Po e (44810 -
Shaft End c.c /rev PO (IG5 ) R:|Right Hand 532
P1HSHO] (RIS ) (8) Suction Port Position L:|Left Hand Z58

P2:Discharge Port
Shaft End c.c /rev
P2t

(4) P3:Discharge Port
Shaft End c.c /rev
PIEMO (RREFEFHFEE)

(5)Mounting Type
ZERBLI
F:Flange Type ;ARETY
L:Foot Type RAIEEEY

(view from Shaft End)
RO NS EE)

@ Discharge Port Position
(P2) Shaft End Pump
(view from Shaft End)

P20 (FebEh75sEE)

Discharge Port Position
(P3) Shaft End Pump
(view from Shaft End)

PR (HEINERTSEE)

(6) Shaft Rotation (1) Shaft Type 01
(view from Shaft End) IR FE%E
Bo (?félll.\;ﬂ]ﬁlﬁlé) Port connection variables (2 I A B C
R:Clockwise |IRF5Et (P3) HHCIEAE P3| o1 | 381 175 | 015

L:Anti-Clockwise ZB§Et

02 47.6 | 222 |019.05

Deliver Flow (//min)  at no-load pressure Running Speed Max Pressure
wmEENEERE (tpm)  gm3E (Kgflem?)
Model Running Speed (rpm)  gEE Max Min BEaEN
B 57 1000 1200 1500 1800 BX & Cont. | Peak.
06 6.2 74 9.3 11.2 1800 300 210 240
08 8.1 9.7 12.1 14.6 1800 300 210 240
1 1.2 3.4 13.4 20.1 1800 800 210 240
14 4.3 7.1 215 25.7 1800 800 210 240
VQIs 17 17.1 205 25.6 30.7 1300 800 210 240
(P3) 19 9.2 23.0 28.8 345 1800 300 210 240
23 233 27.9 34.9 41.9 1800 800 210 240
26 26.1 313 39.1 46.9 1800 800 210 240
31 311 373 46.6 — 1500 800 175 240
06 6.2 74 93 1.2 1800 800 210 260
08 8.1 9.7 2.1 14.6 1800 800 210 260
11 1.2 3.4 134 20.1 1800 300 210 260
14 14.3 7.1 215 25.71 1800 300 210 260
17 7.1 20.5 25.6 30.7 1800 800 210 260
DVQ20 [ 19 19.2 23.0 288 345 1800 300 210 260
(P2) 23 23.3 27.9 34.9 41.9 1800 300 210 260
26 26.1 313 39.1 46.9 1800 300 210 260
32 32.1 383 17.6 — 1500 300 175 240
34 34.1 40.8 50.4 — 1500 300 175 240
33 38.1 45.9 — — 1200 300 175 240
44 441 52.9 — — 1200 300 175 210
B 18.1 217 27.2 32.6 1800 300 210 260
2 22.1 26.5 333 39.8 1800 300 210 260
26 26.2 314 393 7.1 1800 300 210 260
32 32.1 385 48.1 57.7 1800 300 210 260
pvQ2s|_38 382 45.8 573 68.7 1800 300 210 260
3 32 51.8 64.8 777 1800 800 210 260
(P1) %7 471 565 70.0 85.0 1300 800 210 260
52 523 62.7 784 94.1 1800 800 210 260
60 60.2 72.7 90.3 108.3 1800 300 210 260
65 653 783 97.9 117.5 1800 800 210 230
75 75.0 90.0 1125 — 1500 300 210 230




KCL

VQ Series Triple Pump Dimensional Drawing

VQ RI=

BRANERYE

Q 12.7 582
Ml 19.0-DEEP-4 HOLE :
M10 x 19.0-DEEP-4 HOLES 0x19.0 OLES
MI2 x 24.0-DEEP-4 HOLES 197
50.8 ||
M10 x 19-DEEP-4 HOLES — +0
KEY 635 05
MS8 x 16 DEEP
-8
2 F<
o~ °
= > =
g < S
< =
vy N
a q
S bS]
P3:0C P2 : 0 19.05 mm Pl :(254mm No. 1 Shaft
. 2
Peak. : 240 Kg/ em’ Peak. : 260 Kg/cm? Peak. : 260 Kg/cm?
Cont. : 210 Kg/em Cont. : 210 Kg/em? Cont. : 210 Kg/em?
B A B
P3 01 38.1 17.5 015
02 47.6 222 |0 19.05
174.5
146 357.2 71.4
73 ~_95.06 93.6 103.1 38.1| 9.7
| ‘ | B 4179
g i L +0
@ @ 41—\ ‘[\ " A A Key6.35 ) o5
0 g ‘ o~ o~ 38.1 M8 x 16 DEEP
ﬁﬁ h —
&) 1+
0134 g 15x45° o3 s
H <
[ [@\l
MOUNTING TORQUE 117ft.lbs
MOUNTING TORQUE 117-ft.Ibs (159 Nm) NO.2 Shaft

NO.3 Shaft
SAE BB
Splined shaft

(159 Nm)

Class 1-J498 b 16/32d.p.
-15 teeth 30° pressure
angle flat root side fit

NO.5 Shaft

SAE B splined shaft

Class 1-J498 b 16/32d.p.
-13 teeth 30° pressure
angle flat root side fit

MOUNTING TORQUE 40ft.1bs
(54Nm)

71.4
B Key 7.0 ‘o5

38.1 / M8 x 16 DEEP
=20

- v B
15x45 oS
[ 0
(@)
(S

NO.6 Shaft

55.2

NO.7 Shaft
splined shaft Class
1-J498 b 12/24 d.p.
-14 teeth 30° pressure
angle flat root side fit




KCL

VQ Series Triple Pump Ordering Code
VQ R3I=FRETEEES|

DVQ4325

@

2 ® ®

Series Number -------——-
R

P1:Discharge Port -------

Shaft End c.c /rev
PlEHO (FENE S EE)

P2:Discharge Port --------------—--

Shaft End c.c /rev
P2H5mO

P3:Discharge Port -------—-——-———-

Shaft End c.c /rev
P3HHO (BB EE)
Mounting Type
ZERHI

Shaft Rotation --———-_____

(view from Shaft End)
BEE (RIS E)
Discharge Port Position
(P1) Shaft End Pump
(view from Shaft End)
P1HAO (e 5 E)
Suction Port Position
(view from Shaft End)
ERO GINERT5EE)

Discharge Port Position -----------

(P2) Shaft End Pump
(view from Shaft End)

P2HmO (R 5 E)

Discharge Port Position
(P3) Shaft End Pump
(view from Shaft End)

P3O (eI TS E)

Shaft Type ---------------—---m——-

I\EhFELR

Weight E&:
Flange Type jABERY: 92 Kg
Foot Type FIEERY: 123 Kg

DVQ 4325

136,156,189
200,216,237

60,66,76,82,88
94,108,116,125

18,22,26,32,38,43
47,52,60,65,75

F:Flange Type ERSEY
L:Foot Type RAIEEEY

R:Clockwise |[BFFEt
L:Anti-Clockwise RBFEt

A:Upward (normal) [
B:Downward [@F
R:Right Hand 7328
L:Left Hand #AiE
A:Upward (normal) [
B:Downward [@F
R:Right Hand #i&
L:Left Hand #AiZ
A:Upward (normal) [
B:Downward @
R:Right Hand 572
L:Left Hand #AiZ
A:Upward (normal) [
B:Downward [@F
R:Right Hand 72
L:Left Hand #Ai2

01




KCL

VQ Series Triple Pump Dimensional Drawing

VQ RII=BRNEERYTE

DVQ4325

SUCTION PORT 9 101.6
4-M16x2.0P DEEP 19

DISCHARGE PORT P2 @ 30.5
4-M10x1.5P DEEP 19

5

130.2

- o 4-@ 22 HOLES
g Heo
TERES T 2 209 87 S 47 0 43 SPOTFACER 1 DEEP
‘ = o a
— | Al n
(an] o —
- SIS
2 ;
£ = <
o
g
+ &
+0
30 127 04
— T T
o
o 23 1143 |39
g < 185
H@‘
\[}
I i
‘3\ Foot Type (RAIEERY)
| DISCHARGE PORT P1 0 38

DISCHARGE PORT P3 @ 24.5

4-M10x1.5P DEEP 19

4-M12x1.75P DEEP 20

113

+0

+0

140
119
92
75

—

‘
W
wn
+0
0.05

0 38.1.0.021
42.36 018

228.6

01524,

o




	p26
	p27
	p28
	p29

